JLTAY 2023 Practice Exam Number 2 — Transcripts and Sample Answers

This marking guide contains:
* Suggested answers for each question
* Suggested marks for each question
» Sample responses for the writing tasks

NOTE : This marking guide has not been endorsed by the VCAA.

Section 1 Part A - Listening and Responding in English
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Question 1 (10 marks)

a. Why is there a recycling bin in every classroom from today? (1 mark)
e Because the student council requested it.
b. What type of rubbish should students dispose of in the compost bins? (1 mark)
e Food scraps such as fruit and teabags.
c. Where are the two new compost bins located? (2 marks)
e Next to the car park (1 mark), behind the gym. (1 mark)
d. What shouldn’t students forget to do? (1 mark)
o Turn off the lights when they’re leaving a classroom. (1 mark)
e. List three additional ways students can preserve the school environment. (3 marks)
e By putting such things as cardboard and paper they won’t use in the recycling
bin (1 mark)
e By bringing a reusable drink bottle to school (1 mark)
e By bringing tupperware/containers to school (1 mark)

f.  What should students do if they have another idea of how to protect the environment? (2
marks)
e Email the student council (1 mark) by next Friday. (1 mark)
Section 1 (Part B - Listening and Responding in Japanese)
TEXT 2
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Question 2
a. According to the phone message, what does Aisha think about the Japanese countryside? (1
mark)
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c. What tourist activities did Aisha do with her homestay family? (3 marks)
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d. What would you experience whilst riding a bike along Shimanami Kaido? (2 marks)
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e. Why did Aisha say the trip to Shimanami Kaido was a good experience? (2 marks)
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Section 2 (Part A- Reading, Listening and Responding in English)

TEXT 3B
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Question 3

a. Based on the reading text (Text 3A), list two reasons why club activities have been changing
recently. (2 marks)

Number of overall students is declining. (1 mark)
Teachers working too much. (1 mark)

b. In particular, what is changing with sports clubs? Give 2 reasons for this change, providing
evidence from the texts. (Text 3A and 3B) (3 marks)

From the graph, the number of participants is declining. In 2007, 65% of the
students participated in the sports club, but in 2023, this has decreased to 58%.

(1 mark)

The reasons for this change are because team sports require a large number to run,
but due to the decline of the number of students, they can not have enough students
to run as a team. (1 mark)

Also, more and more students started shifting away from doing some strict and daily
training, but they want to have more time for their study and their own time. (1
mark)

c. What are the positive aspects of the ‘multisport club’? (Text 3B) (3 marks)

They decide their own preferred sports to play. (1 mark)
They are able to play various sports in a fun and relaxing environment. (1 mark)

The students can have a balanced lifestyle because they do it only twice a week.
(1 mark)

d. Complete the table below by giving examples and details from the Reading text (Text 3A) of how
club activities are changing. (6 marks)

Location Example

‘Joint club activity’ (1 mark)

Shizuoka ken Students who are unable to play soccer at
Numazu city school go to the local soccer club twice a week.
(1 mark) (1 mark)

Tochigi ken (1 mark) Once a week, students go to the local sports

club or university to do their activity. (1 mark)
Tennis club goes to nearby University and
tennis club members at University coach the
students. (1 mark)




How do these changes help to solve the problems around running club activities in Japan
in the current environment? (Text 3A and 3B) ( 6 marks)

By running a multisport club, (1 mark) while students are able to play the sports
that they want to play, they are able to balance their student’s life. (1 mark)_

By running community based activities (1 mark)_, students are able to play the sport
that they like, although the number of students are decreasing (1 mark) , thus their

school can not run their own club activity.
Teachers’ excess work hours can be solved (1 mark)_, since some of the activities are

taken care of by their local communities. (1 mark)_



SECTION 2 (Part B: Reading and responding in Japanese)

This is a sample response only. It is not an example of a high scoring response. It is for teachers to use
with their students. Only kanji from the prescribed list in the Study Design has been used in this
response.

&
Ji

E|lF|s|o|=]5

[ s

LVl

A
+
i
e

BFlL|L]AS

Wl D E @m0 E L] | EIR|E|F]EFT]IT]]-
ElalL|T|H|(F ||| =2|T|(v]|SA|T|L]E]D
Bl. | TR IR FlAa|lB|F|F|Fl=(m]alv]E&2le]2]E

& Tl &L= @] FIE][I|E]LlE] S]]
LIEIL&=). |£|i]|d] & ]l FIEIT s [ A S &
=lF]|2|T]|F]- = | 4 e+l A= T ol ol I o

£l | =]

ik
Eh_
s
[
iy
3
o
ir

||_1.

(1]
|1
i




SECTION 3 (Writing in Japanese)
These are sample responses only. They are not examples of high scoring responses. They are for
teachers to use with their students. Only kanji from the prescribed list in the Study Design has been

used in these responses.
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